Revision Notes - Arithmetic Progression

If ‘@’ is the first term and 'd’ is the common difference of the arithmetic progression, then its nth term
is given by ap = a+(n-1)d

The sum, Sy, of the first ‘n’ terms of the A.P. is given by Sp = n/2[2a + (n-1)d]

If Spy is the sum of n terms of an A.P. whose first term is ‘a’ and last term is ‘'S, = (n/2)(a + 1)

If common difference is d, number of terms n and the last term |, then Sn = (n/2)[2I-(n -1)d]

If a fixed number is added or subtracted from each term of an A.P, then the resulting sequence is also
an A.P. and it has the same common difference as that of the original A.P.

If each term of A.P is multiplied by some constant or divided by a non-zero fixed constant, the
resulting sequence is an A.P. again.

Ifaq,a2,a3,..,anand bq,bp, b3, ..., by, arein A.P.thenaq+b1,ap+byp,a3z+bg,.....,apn+tbpand aq1-b1,
ap-bg,a3-b3y,......,an-bp will also be in A.P.

Suppose a1,a9, a3, .....an arein A.P.then an, ap-1, ...... a3, ap,aq1 will also be in A.P.

f nth

Ifaq,a2,a3,.....,anarein AP, thenaqg +ap=ap +an-1=a3+ap-2 =.....and so on.

term of a seriesis tn = Ap + B, then the seriesisin A.P.

In order to assume three terms in A.P. whose sum is given, they should be assumed as a-d, a, a+d.
Four terms of the A.P. whose sum is given should be assumed as a-3d, a-d, a+d, a+3d

Five convenient numbers in A.P. a-2b, a-b, a, a+b, a+2 b.



In general, wetakea-rd,a-(r-1)d,....,a-d,a,a+rdincase we have to take (2r + 1) terms inan A.P.
Likewise, any 2r terms of an A.P. should be assumed as: a - (2r-1)d,a - (2r - 3)d,...,a-d,a,a+d,
ceenneenens y AH(2r-3)d, a + (2r-1)d.

The arithmetic mean of two numbers ‘a’ and ‘b’ is (a+b)/2.

The terms A1, A9, ...., A are said to be arithmetic means betweenaandbifa, A1, A, ....,Ap,bisan
AP.

Clearly, ‘@’ is the first term, ‘b’ is the (n+2
a+(n+2-1)d = a+(n+1)d

Hence, this gives ‘'d’ = (b-a)/(n+1)

)th term and ‘'d’ is the common difference. Then, we have b =



